Math 121, Test 3, Section # : Name:

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.’
Credit will be awarded for correct content and clarity of presentation. This test has 100 points. Try to at
least attempt each part. Please clearly box your answer in each question.

1.[Spts] Find the domain and range of f(z) = In(x — 1). Also, graph the function.
M dom(£) = (1, e0)
ronae (£) = (o0 ,00)= (K

2.[5pts] Find the domain and range of f(z) = 2” + 1. Also, graph the function.

3.[10pts] Solve the equation:

R R G T
= x*-€x +5 = O
= (x-—-\)()(—-gj — 0




4.[5pts] Solve the equation:

3€x+2 =81 -——’ QX“'Q S Q?

In (@) = Qn (29
etz - Bin (e
ﬁ( = W(3Z) -

5.[5pts]Solve the equation:

= Ve e”
F000 = Y + Qe 98 = Sy

6.[5pts]Solve the equation:

10%5(“’”‘8):2 = Sz%s(m) _ gt

x—108 = 0§
> =8 = G5)° = a5

t = eo3 |

7. [5pts]Find values for A, B, C' that make the equation below true.

1
51n(z?) + = In(z+6) —3ln(z* + 1) = ln(
\___,...—»""‘ ““““““““ _—

N

R0 (%) + (66 ) + In () = o (?x’g:)? )

(A=10, 8=5 C=73 |




8. [5pts]Find values for A, B, C that make the equation below true.

10g<(x n %:1;(211 1) ) =4log(z+ A) + Blog(z — 3) + Clog(z + 7) ;2 log(a? + 1),

N A
: ' S - aQ@@a (X+ )
|A=3,8=Y, C=-15]

9.[10pts]Solve the following system of equations:

z4+2y=>5
—zr+4y ="

il

64=n /. % =3 = X= S-a@= S-y
X =1, v=3]

10.[15pts]Solve the following system of equations:

z+2y+z=4 + R
—3z+y—2z=0 : A2
F=y=g=0 ! R?

RI+R3 BN +Y =N =
R3—-K2 : Yx-2% = 0O

Mx +29 =3
\HX —2% = @,/

girEs e g -2 = V=R
= Z=3

'771614 ﬁg «94'0,/0’5
Z = X-Y = |- =

/ﬂmsi =1, ¥ =R, 2“‘“@

of
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11.[5pts]Given the information below, read off the solutions.

3z—y+z2=0 8 —1 1 D0 100 /
rT4+2y+2=4 has rref |1 2 1 4)]=10 10
9% — 2y — 22 = 0 2 -2 =2 0 g1
1 1 1
12.[5pts] Supposethat A= |0 1 0 |]hasthe multiplicativeinverse A== [0 1 0 |. Solve
00 -1 0 0 =1
the following system of equations given in matrix form below by multiplying by the inverse matrix given
above.
} ) = ) -
I, 1 g e T é = -
0 1 ARAx = A = X=R
0 0 sl




13. [16pts] Suppose that A = @ Z) and B = (g g) Calculate

SEFETE- T30 AN A4 S -
a)AB = 3‘1)(6‘)2) _”( .

i s i Berts bl g“ﬁ(la L (1o 18] _ [ 18
(4 3)+3(C &) 3 ,

14. [4pts] Calculate the following:

dt(—}ié) = 1deb (S5 )]~ 1ol o+ z@m/’ 2
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